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= 260 198 133 43 4.6 32

=% (K% [ErVENR] 9 6 5 1 6.0 32

=% (1) 6 5 5 2 2.5 32

TR 3 3 3 1 3.0 32

B 4 3 2 1 3.0 32

HE 0 - - - - 32

REE |5 3 1 1 0 - 32
SEHED 2 2 2 0 - 39

i s il 2 2 2 1 2.0 32

BER (6 5) 1 1 - 1 1.0 45

BEm (8 8) 1 0 - - - 45

{RELED 14 13 6 2 6.5 32

1% 51 45 21 7 6.4 32

SHBE (BE R t) 34 32 15 3 10.7 32

2% [(BHERBRENR] 171 157 25 5 314 49

£ [THEBRRENR] 87 80 25 5 16.0 49

TR [REBRENSR] 9 8 7 2 4.0 49

RERE  (RE (BRENR] 3 3 3 1 3.0 49
i (RRENR] 1 1 1 1 1.0 49

BR [RBEBRENR] 2 2 2 1 2.0 49

£ [HBOCAHIHR] 45 43 10 2 21.5 50

=B (@K -5k 37 33 10 3 11.0 29

TR EX - &K 3 3 3 2 1.5 29

HBE (EK - mR) 33 27 15 5 5.4 29

IR - R |REHEL 61 56 39 13 4.3 32
i REHEL [BBREWER] 10 9 5 1 9.0 49
AR B (REAARSE) 17 16 6 1 16.0 35

REEBE [RERENR] 9 7 5 1 7.0 45

Zof | BER 28 27 20 10 2.7 39
whREERA (2% (ZEEREEL) 5 5 4 1 5.0 32
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